
	Imbrication	métrique
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Sonocreatica

																		=	20	:	espace	substrat	(valeur	constante)				

																										pulsation	globale	[@]	équivalente	à	80	bpm

										croche	de	neuf-nolet	[@]	équivalente	à	180	bpm		soit	(80/4*9)

				croche	de	quintolet	du	neuf-nolet	[@]	équivalente	à	300	bpm	soit	(180/3*5)

	croche	de	triolet	du	quintolet	du	neuf-nolet	[@]	équivalente	à		450	bpm	soit	150*3

			croche	de	quartolet	du	neuf-nolet		[@]	équivalente	à	240	bpm	(180/3*4)	

		croche	de	triolet	du	neuf-nolet	[@]	équivalente	à	270	bpm	soit	(180/2*3)
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